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225,000

hoH

225,000
150,000
75,000

225,000
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225,000
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noH
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hoH
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325,000

975,000

01 XXIEHHIX

El EFUFE }_/\4
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975,000
975,000
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325,000

975,000
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—

,057,500
705,000
352,500

600,000

457,500

hoH

—y

,057,500
705,000
352,500

600,000

457,500

o

—

,057,500
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705,000
352,500

—
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Mo

225,000
150,000
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225,000

H

225,000
150,000

225,000




AR gAY SN BRI
Hu: ALSD MRS NABBTH(BBLS/N)
o9l RIBZRHOIBAIL (el mg)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
= 75,000
01 XXISHHI K= 2 = 225,000 0 225,000
OMTNR 2DIYEIELE X4 225,000
2 160,000
= 75,000
HAE2 2IMESYR T4 225,000 0 225,000
2 160,000
= 75,000
403 KX M S X201 & 225,000 0 225,000
2 150,000
= 75,000
01 XX SHHXH= R = 225,000 0 225,000
OFESZ 2IMEHELE T4 225,000
2 150,000
= 75,000
Bl A ROIMEHSSIE T E T4 (2E) 975,000 750,000 225,000
2 650,000
= 35,000
403 RHXI SIS XHZOI & 975,000 750,000 225,000
2 650,000
= 35,000
01 XX SHA=R = 975,000 750,000 225,000
B2 4B ROIMEHSIIEYE T4 (8
1) 975,000
2 650,000
= 35,000
NZ& 2IRME2sE YR T4 830,000 300,000 530,000
2 705,000
= 125,000
403 THXI SIS XH=OI & 830,000 300,000 530,000
2 705,000
= 125,000
01 XK= 2 = 830,000 300,000 530,000
ONZH OIMEISSESZ X4 830,000
2 705,000
= 125,000
SRR DY 2 130,000 130,000 0
2 100,000
= 30,000
308 XHXI SHHISOIH 130,000 130,000 0
2 100,000
= 20,000
01 IXSHBABES 130,000 130,000 0




AR gAY SN BRI
Hu: ALSD MRS NABBTH(BBLS/N)
o9l RIBZRHOIBAIL (el mg)
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
OHYRIINEZY 29 130,000
2 100,000
= 30,000
LS SUEEXY 28 - 0I8Ala &3 X 276,500 0 276,500
| 245,000
= 31,500
403 KX SHHIS XH=OI & 276,500 0 276,500
| 245,000
= 31,500
01 XX =2 276,500 0 276,500
OBILIE SXBSNY BF - 0IBA& &X
X2 276,500
| 245,000
= 31,500
CEENEEN Y 360,000 360,000
403 RXISHHI SRH20I & 360,000 360,000
01 XX 2 360,000 360,000
@ICRELINLESINRE ST 360,000
RHo1E 2 U MERH S 3,000 3,000 0
NS S5IR MM A 3,000 3,000 0
307 212H01 3,000 3,000 0
EIEIE P ONETEES 3,000 3,000 0
OXIES3IR H2HOILE &4 3,000
NEREEEREE 5,728,644 2,506,014 3,182,630
2 3,763,300
= 1,965,344
OFMSES WIoH0IZ AR (5Ih) 240,500 497,900 £257,400
2 185,000
= 55,500
403 KX SHIS KHZOI & 240,500 497,900 A257,400
2 185,000
= 55,500
B PA=TEES 240,500 497,900 £257,400
QOIS S TIGHOIZAI (5T1) 240,500
2 185,000
= 55,500
OFMSES WIoHOIZAR (KIXHH RT) 273,000 0 273,000
2 210,000
= 63,000
403 XX SIS KH=0I & 273,000 0 273,000
2 210,000
= 63,000
01 XX K= 2 S 273,000 0 273,000
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A= SEAE= 2A 1 82 1t
2 2AU5t] MYEJUes NHSETH(BFES /K
&2l OrisalEEs 2l (St &)
AR .. HEH. CI-_‘,’_|(§D1|) - HIEAIY - HE2 0| AFOH SEE Hn=2
SHrTATSRE T == - Ofl &k o se
OOt =SSTIHH AL (XXM EE) 273,000
= 210,000
= 63,000
Ot =2 ToHE4 XI& 207,840 259,800 251,960
308 ALXIHMSO0I& 207,840 259,800 51,960
01 XN BAELS 207,840 259,800 251,960
OOt =2 Loi24a X 207,840
O =2 HoHEXH XA 299,014 299,014 0
308 AXIHMISO0I& 299,014 299,014
01 AXIEHBAEES 299,014 299,014
OOrd=2 TloheXiet X 299,014
OMESE RNy 29 X 500,000 500,000 0
= 150,000
= 350,000
308 AHXIHMSOIH 500,000 500,000 0
= 150,000
& 350,000
11 BII2S0ICHEHE A X LAE AL 500,000 500,000 0
OtsES2La2e|dyH 29 K& 500,000
= 150,000
& 350,000
ONMEE X 2ACHH IRF HFZE &X 200,000 0 200,000
= 100,000
= 100,000
403 XX SHMSKHE01A 200,000 0 200,000
= 100,000
= 100,000
02 I 2S0HEA=2E S AL I 200,000 0 200,000
OOisZE X2 edH 2857 HEE &
N 200,000
= 100,000
& 100,000
OIHESAE ES8S 2,000 2,000 0
202 Odt| 2,000 2,000
01 =WHO4LI 2,000 2,000
OO SAZSESES 2,000
MNAXI?l B&D12 XIJ 66,000 66,000 0
= 45,000
= 21,000
308 AXIHMSOI & 66,000 66,000 0
= 45,000
& 21,000
01 XN BAELS 66,000 66,000 0
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332’8};_ 1A= HAHSEX
OisSAlZEs 32kl (Gt H2)
2.2 ZH . G (B) - MIRAY - B A HIm=S2t
OMAIXI? B&D|12 XI& 66,000
= 45,000
T 21,000
MENH et ME EIXIALY 270,400 214,500 55,900
= 208,000
& 62,400
308 AXISHMSOIA 270,400 214,500 55,900
= 208,000
& 62,400
01 XX SHNBAEERZ 270,400 214,500 55,900
OHMEfH net M2 E XA 270,400
= 208,000
T 62,400
HERIIS BEZS ZHAE 7,800 7,800 0
= 6,000
= 1,800
308 AXISHMSOIA 7,800 7,800 0
= 6,000
& 1,800
01 AXESHHZAEEZ 7,800 7,800 0
2EAIIE SEES &4 7,800
= 6,000
& 1,800
MENASBEAIE AXIAIY XA ,960,000 660,000 1,300,000
= ,550,000
= 410,000
403 XX SHMSAHE01A ,960,000 660,000 1,300,000
= ,550,000
T 410,000
01 XEXISHHI A= 2 & ,960,000 660,000 1,300,000
OMENABHTAIE XA
) 660,000
= 550,000
& 110,000
ONSKEEMAIE XA
= MEBAME ) ,300,000
= ,000,000
= 300,000
OFZ2IPIEHXIZY UISAE (X2 214,500 0 214,500
= 165,000
& 49,500
308 AXIEHMSOIN 214,500 0 214,500
= 165,000




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
< 49,500
01 HASHHBSEEXS 214,500 0 214,500
OXtt=Etel 2tel 214,500
= 165,000
= 49,500
OLZCIDtSHXIEE HEAIS (XHESEE] &XI) 967,590 0 967,590
= 744,300
=S 223,290
403 AXIEHMSAH=0lH 967,590 0 967,590
= 744,300
S 223,290
01 XA 22 % 967,590 0 967,590
OXtet=Erel & 967,590
= 744,300
= 223,290
?FEEHFEHN%Q HEAL(AZHH & HALH HMeldl 520,000 39,000 481,000
= 400,000
=S 120,000
308 KtXIEMSOIE 520,000 39,000 481,000
= 400,000
== 120,000
01 XN BSELS 520,000 39,000 481,000
OAZIHF & HALM Xl 520,000
= 400,000
S 120,000
o 2of & HUIZ 22/&2Et 20,927,811 18,225,066 2,702,745
= 12,952,650
== 7,975,161
=g molsael 4,408,436 2,697,666 1,710,770
= 2,308,900
< 2,099,536
sABIIR =AHBH(U) 186,476 152,673 3,803
308 AtXIEHMSOIE 156,476 152,673 3,803
11 S| 2SO0 UeZB XA AIE 156,476 152,673 3,803
Os%A8I17 +=HEL(UE) 156,476
SHLE+=HE XA 30,000 30,000 0
403 AXIEHHSAH=201H 30,000 30,000
01 AR A =2 £ 30,000 30,000
Osoeldg EXX2A 30,000
SZEHHE =H2d= 870,960 660,000 210,960
= 458,400
& 412,560
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Aol Hof 9 HDlZ 2el&st
Ad=ed Hoil=2¢el EER=E)
12 2A - 33 - SA(3]) - HIRAY - BES Ofl &kl Oaﬂg% Hlns
308 XIXISHHISOI& 870,960 660,000 210,960
=2 458,400
[ 412,560
01 RXSHBAEES 870,960 660,000 210,960
SEHHIE =AH243 870,960
= 458,400
(= 412,560
2SS B2 114,000 89,743 24,257
= 114,000
403 MR SHHSKHE01A 114,000 89,743 24,257
= 114,000
01 XIXISHHIXH= B X 114,000 89,743 24,257
=ZEMHIY SSdotE ==K 114,000
=2 114,000
ASHIIE 4+ - X2l XA 300,000 0 300,000
308 XIXISHHISOIE 300,000 0 300,000
01 MRSHBAEERS 300,000 0 300,000
OgsHIIE =H - M2l NN 300,000
SH&o MaD| A (22 ) 203,000 214,000 A11,000
=2 203,000
308 XIXISHHISOIE 203,000 214,000 A11,000
= 203,000
01 AIXSHHBNEZZ 203,000 214,000 A11,000
OBt EDIT MY D A (BLE) 203,000
= 203,000
SIEGHE M) HAI(AFH) 116,000 116,000 0
= 116,000
308 XIXISHHISOIE 116,000 116,000 0
= 116,000
01 AIXSHHBNEZZ 116,000 116,000 0
Ool&Est? XD HStAI (EFE) 116,000
= 116,000
2LRA GG HEAY 13,000 13,000 0
308 RIXISHHISOIE 13,000 13,000
07 XX SRt B2 13,000 13,000
O=d59% otao? At 13,000
M2 suotg 8XXH 157,500 187,500 30,000
= 157,500
403 XISHSK=01™ 157,500 187,500 30,000
= 157,500
01 RIXI SRR 22 X 157,500 187,500 30,000
OoMgEg sUIotY XX 157,500




224122 SN BREN
Aol #of & Wil 2clHzt
Ad=ed Hoil=2¢el EER=E)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| 2 157,500
NS (HEE) 255 550,000 470,000 80,000
403 AXIEHHSAH=201H 550,000 470,000 80,000
01 XIS A =2 £ 550,000 470,000 80,000
O =8 (3 )243MY 550,000
Hes88 SEML XA 390,000 0 390,000
= 260,000
== 130,000
308 AXIHSOIA 390,000 0 390,000
= 260,000
[ 130,000
01 HRHHBSEELS 390,000 0 390,000
OoMEEs SEME XA 390,000
= 260,000
= 130,000
CtalED| THAFZ SEALY 1,500,000 150,000 1,350,000
= 1,000,000
= 500,000
308 XXM SOIH 1,500,000 150,000 1,350,000
= 1,000,000
== 500,000
01 MRESHH B EES 1,500,000 150,000 1,350,000
OLt21EJ| MAIE S A 1,500,000
= 1,000,000
< 500,000
st=HDISE3 A3y 7,500 5,000 2,500
201 et 3| 7,500 5,000 2,500
02 s3=gHl 7,500 5,000 2,500
Ost=HDISE3l A3y 7,500
HOIEXCIAIE &5 16,519,375 16,527,400 991,975
= 10,643,750
== 5,875,625
OHEIAIE & X 3,718,300 5,011,000 1,292,700
= 2,190,000
< 1,528,300
403 AXIEtMSAH=01d 3,718,300 5,011,000 A1,292,700
= 2,190,000
= 1,528,300
01 AXISHHA=2 2 3,718,300 5,011,000 1,292,700
OF= M2HEX =EAIH 2,018,300
= 1,190,000
= 828,300
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Zu: TEel Bor 2 HIIE 22IYE
ol HIIZHEIAE 2= (SHol: )
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
Ottt MEHI|IS OHIAIS(2EH) XA
& 1,700,000
= 1,000,000
[ 700,000
AZAE EX 5,126,700 5,796,700 A670,000
= 3,120,000
= 2,006,700
403 AXIEHHSAH=201H 5,126,700 5,79%,700 A670,000
= 3,120,000
< 2,006,700
01 AR A =2 £ 5,126,700 5,796,700 670,000
OFFAl HEHIIZ A2AE SEAMY 368,400
= 200,000
== 158,400
OMEAl 2HDIE A2AE SEMNY 2,764,300
= 1,600,000
= 1,164,300
Otz d2HDI=2 A2AE XA 1,224,000
= 720,000
= 504,000
ORESH AU 22AXRIAE SEA
5 780,000
= 600,000
& 180,000
A2e|=HE &E 4,451,200 4,201,100 250,100
= 2,704,000
= 1,747,200
403 TR SHMSAH=01H 4,451,200 4,201,100 250,100
= 2,704,000
=S 1,747,200
01 AXISHHA =2 £ 4,451,200 4,201,100 250,100
OFFAl 23 HE EXIAIE 365,500
= 215,000
[ 150,500
OFFAl == MeE dEAE AFAE 3,102,500
= 1,825,000
= 1,277,500
OFFAl HESHEAE USEAE 510,000
= 300,000
=S 210,000
OMESd 292 HESHEANE S&
Ar& 473,200
= 364,000
= 109,200
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224122 SN BREN
el Zet & Holg 22t
HOISXCIAE &5 EER=E)
224 Y. B (3H) - ASAY - BaS 0l &y G o HIRS2
SAE HIIEX™elAld &X] 477,000 222,600 254,400
= 281,000
T 196,000
403 XXM S K201 477,000 222,600 254,400
= 281,000
= 196,000
01 AXISHHA2EE 477,000 222,600 254,400
Otz SASRHIIZ SsSH2IAE &X
A 477,000
= 281,000
& 196,000
ZEA HUKIERR =4 A 1,024,000 0 1,024,000
= 1,024,000
403 XIXIHXMS K20 A 1,024,000 0 1,024,000
= 1,024,000
01 XIXISH =2 X 1,024,000 0 1,024,000
Otz SZUHUHXIEH2 ALY 924,000
= 924,000
OHUZ FEZUHUHXIEL2 ZHAIY 100,000
= 100,000
FIISHAE S& BHOIIASIAIE &XI 1,722,175 0 1,722,175
= 1,324,750
T 397,425
403 RIXIHMSK201H 1,722,175 0 1,722,175
= 1,324,750
= 397,425
01 XIXISHI A= E & 1,722,175 0 1,722,175
O&EFAl SIIEHAE S& HI0ILItASHAI
a &X 1,722,175
= 1,324,750
& 397,425
HE2HEH(BHEZH 79,527 78,340 1,187
|28yl 79,527 78,340 1,187
J|l23| 79,527 78,340 1,187
201 Let2AH| 18,627 17,740 887
01 AtR2teld| 18,627 17,740 887
OJl2=+&H| 7,602
OJ|23 &t 11,025
202 04t 35,700 37,800 A2,100
01 Z2LHOHI 35,700 37,800 A2,100
OJ120dl 35,700
203 R =&IH| 23,400 22,800 600
01 J|2A2Y P R=EIH| 6,600 6,600 0
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A= BEME= 2A IS0
I HRSBIIEE L X720
el JIRgs s # HS (Gt H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
& 40,000
307 2IZtol& 80,000 80,000 0
Il 40,000
< 40,000
02 QIZHEMAIHE X 80,000 80,000 0
OJI=dstusHE 23X3 80,000
Il 40,000
< 40,000
EIAHQIEN JtItR MIEIE XIS 368,606 107,000 261,606
Il 368,606
308 XXM SOIA 368,606 107,000 261,606
Il 368,606
01 MASNBdExRS 368,606 107,000 261,606
OAZOIEN 2g 368,606
Il 368,606
NSAt SAHIER MEE XIS 66,000 4,400 61,600
Il 66,000
308 XXM SOl 66,000 4,400 61,600
2l 66,000
01 MASHNBSExRS 66,000 4,400 61,600
OXSxt HAHQOIERN QIMEIE X2 66,000
Il 66,000
EZI|ZANE BASEZZ2OHY 2,371,620 932,500 1,439,120
Il 2,371,620
403 NXI M SAH=0l & 2,371,620 932,500 1,439,120
2l 2,371,620
01 RIXISHMIA 22 2 2,371,620 932,500 1,439,120
O=tBIIZAE BASEEIZ Y 2,371,620
Il 2,371,620
BASEH  sMEE JI2AE SE(A2) 350,000 350,000 0
Il 350,000
308 XXM SOl 350,000 350,000 0
2l 350,000
01 IXHMBLExS 350,000 350,000 0
OEL S, =448 JI=HE =8(A2) 350,000
Il 350,000
SSFE SH2CM SLSE N 500,000 500,000 0
Il 500,000
403 NXIEHMS A =201& 500,000 500,000 0
Il 500,000
01 XIXISHMA 22 2= 500,000 500,000 0
O3382 SH2LN e@#A5E N 500,000
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A IS

= OIMEA N EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OIMISX o2 141,401,024 162,548,345 A21,147,321
= 118,445,544
= 22,955,480
S INE=YN Il DAL 42,195,400 34,393,800 7,801,600
= 38,150,000
& 4,045,400
403 XX SHHSA=01H 42,195,400 34,393,800 7,801,600
= 38,150,000
= 4,045,400
01 MXISHHE2EX 42,195,400 34,393,800 7,801,600
O XS F0XIA 42,195,400
= 38,150,000
= 4,045,400
IR BHEILA H2ZAS 29,528,875 37,524,760 27,995,885
= 22,881,550
& 6,647,325
308 REXIHMSOIH 29,173,975 35,613,760 26,439,785
= 22,608,550
& 6,565,425
01 XN BAELS 29,173,975 35,613,760 26,439,785
OLFIERX I| HIXALE K& 24,733,540
= 19,025,800
= 5,707,740
OLFZ7/I hEts HIEX| 2RI 1,834,755
= 1,411,350
& 423,405
OAH4I|H OPF 2K 15,840
= 13,200
& 2,640
OAEIIA AXWH K& 2,589,840
= 2,158,200
& 431,640
403 XX SHMS K201 ™ 354,900 1,911,000 21,556,100
= 273,000
& 81,900
01 XIXISHI A= E & 354,900 1,911,000 A 1,556,100
OLPG atExt &Ixt7e K& 354,900
= 273,000
& 81,900
23012 MEX 45K 2l 45,207 1,557 43,650
= 34,774
& 10,433
308 KXISHMSOIH 45,207 1,557 43,650




2 LE= SA 0 1=
MRetSI=E & XR2Es0
OINIRX M2 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
= 34,774
< 10,433
01 XN B2 LS 45,207 1,557 43,650
OE3I12t ZUHX 4574l 2l 45,207
= 34,774
< 10,433
AT S AH X 117,000 382,200 N265,200
= 90,000
< 27,000
403 MXISHHSI=01H 117,000 382,200 N265,200
= 90,000
< 27,000
01 XIXISHX=2EE 117,000 382,200 265,200
OHGHIIAIY AUH X 117,000
= 90,000
< 27,000
SIIXSA ORI 67,126,400 75,607,600 8,481,200
= 55,476,000
< 11,650,400
403 MR EHSAHE01H 67,126,400 75,607,600 8,481,200
= 55,476,000
< 11,650,400
01 RIXIEHHIXtE 2 & 67,126,400 75,607,600 8,481,200
OHIIXSIE FO0HKI& 67,126,400
= 55,476,000
< 11,650,400
HII0IER ESAHY 440,000 405,000 35,000
= 440,000
403 MXISHHSK=201H 440,000 405,000 35,000
= 440,000
01 RIXIEHHIXt=EE 440,000 405,000 35,000
OTII0IER ESAte 440,000
= 440,000
Oglol S&xter XA 441,350 1,046,500 605,150
= 339,500
< 101,850
403 MR EHSAHE01H 441,350 1,046,500 605,150
= 339,500
< 101,850
01 RXIEHMIA 22 2 441,350 1,046,500 A605,150
OO0 &0l S=txte LPGRE &ah XA 441,350
= 339,500
< 101,850




A= SENE= A JIZEI
M HRESIIEE L P20
=t OIAIZA M2 (CH9: &S1)
AR RA - ZB - S9(E) - HRAY - BAS 0l & CiE HlDS2
SZTHHIAHI H2PAH 100,000 1,370,000 21,270,000
= 100,000
403 AXIEHSAH=Z0I1H 100,000 1,370,000 21,270,000
= 100,000
01 MXIHM K =2EE 100,000 1,370,000 /1,270,000
OZZ2MHIMAHX MZAS (E2H HAXE
T Bx) 100,000
= 100,000
INEE N=sAB2 BE3AY 1,030,464 1,379,376 348,912
= 858,720
= 171,744
403 THAIEMS =01 1,030,464 1,379,376 348,912
= 858,720
[ 171,744
01 XIS X222 1,030,464 1,379,376 348,912
OIS E N=sAE2d E3AY 1,030,464
= 858,720
< 171,744
AXtH o123 E8S X - 29 112,500 0 112,500
= 75,000
= 37,500
403 XX HMS =01 112,500 0 112,500
= 75,000
[ 37,500
01 XIS 22 E 112,500 0 112,500
OZAItIIEEA WA 112,500
= 75,000
= 37,500
Asxt 2HS HSAAE 2H 43,328 52,267 A3,939
201 L2 43,328 47,688 640
02 3224l 48,328 47,688 640
O28HIE HEAAE SHRS 2,040
OXSA 2EYRHIE SHSAAHE K24 46,2838
OIMIZAl H2)| T2 29 121,500 130,000 8,500
307 gI2to1 & 121,500 130,000 8,500
02 QIZHHLAIHE L 121,500 130,000 /8,500
OO0IMZX H2I| =208 29 121,500
OIMIZXl £010| HE0l 25 94,000 100,000 26,000
307 @lztol ™ 94,000 100,000 26,000
02 QI A AN E R 94,000 100,000 26,000
OOIMIZA £010] HEQ 25 94,000
CHo18tE JHe 6,767,068 7,818,903 21,051,835
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A IS

NE: WRIDIIHL L NS0
Rl toEd oHe EER=E)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2

= 5,453,99%
=S 1,313,073

=SASSEIPD| 222/t K& 214,329 212,2% 2,033
= 191,520
== 22,809

308 AtXIEMSOIE 214,329 212,2% 2,033
= 191,520
< 22,809

01 HASHHBSEEXS 214,329 212,29% 2,033
O=5NAssEID| 28224l X 214,329
= 191,520
= 22,809

FANSSEII| £X - 2E 228 XS 216,979 262,607 N45,628
= 190,475
=S 26,504

308 AtXIEMSOIH 216,979 262,607 N45,628
= 190,475
< 26,504

01 XN B2 LS 216,979 262,607 N\45,628
O=&XNs=s8IJ| X - 282/l N& 216,979
= 190,475
== 26,504

NAZED dLED)| HiE0tA N2 EX I 162,120 0 162,120
= 133,000
= 29,120

403 TR SHMSAH=01H 162,120 0 162,120
= 133,000
s 29,120

01 A= 2L 162,120 0 162,120

OJMAZEIT HLHED| HHE0tA NS EXI

A& 162,120
= 133,000
& 29,120

ATZASE SXAE £X K& 644,400 1,350,000 705,600
= 358,000
= 286,400

402 212+ X201 & 644,400 1,350,000 A705,600
= 368,000
=S 286,400

02 QI X2 AL EE(OIHTHE) 644,400 1,350,000 A705,600
OAAZ2AIEE SXAIE EXIXE 644,400
= 368,000
[ 286,400




A= SEAER 2A ¢ JI=I
S JHReSIIEE Y X220
el toletE oe (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
AR EAEE BXIAIE X X (AZ) 5,350,440 5,730,000 A379,560
= 4,431,000
= 919,440
403 XX SHHSK=01A 5,350,440 5,730,000 A379,560
= 4,431,000
& 919,440
01 AR AH=2E £ 5,350,440 5,730,000 379,560
OLTEAMEE HXAE XX 5,350,440
= 4,431,000
& 919,440
ESLANEE HFAZ M3 X2 (A2) 178,800 174,000 4,800
= 150,000
= 28,800
403 XX SHHMSK=01A 178,800 174,000 4,800
= 150,000
& 28,800
01 XIXISH A= E X 178,800 174,000 4,800
OZ2AHE HEHZE ME XA (Al2) 178,800
= 150,000
& 28,800
MESHA e 7,641,400 7,197,721 443,679
s 5,738,000
= 1,903,400
AT 2HIE(HS) 20,000 20,000 0
308 REXISHMSOIH 20,000 20,000
01 AXIEHBAEES 20,000 20,000
OXHIIo AHH(US) 20,000
=dI0IE Xel - HE K& 7,459,400 6,813,721 645,679
s 5,738,000
T 1,721,400
308 AXIHMSOI& 7,459,400 6,813,721 645,679
s 5,738,000
= 1,721,400
01 AXEHILEES 7,459,400 6,813,721 645,679
O=dI01E Hel - e XA 7,459,400
s 5,738,000
= 1,721,400
SEEMIERRE 29 = 12,000 14,000 22,000
201 ZEH2 & 12,000 14,000 22,000
01 Ar2eltl 12,000 14,000 A2,000
OIS 2Y ¢ 12,000
SH=T SZBHEEH 2SR 150,000 120,000 30,000
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By SA IS0
MNEEZI|8E o N TRusoly
BHEHAXNEE B2 st EER=E)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
| Otdl & 43 s XE&E 2,300
DIZIEE HEUDI A0l N 10,000 10,000
301 Et2E = 10,000 10,000
14 JIEt2 43 10,000 10,000
OPIRHElS B #ZXZ0) 10,000
OIMIHX 28 - DICH BHE Gl 2AI KIRAI (4 905,000 905, 144 N144
s 905,000
308 REXIHMSOIH 905,000 905,144 2144
s 905,000
01 AXIEHBAEES 905,000 905, 144 2144
ODIKIBIXI 2% - DICH BIZ0I 2AIR 0121
H S 905,000
s 905,000
2L AHI(IIFOUD1) 67,262 66,648 614
=24 67,262 66,648 614
JlE2&l 67,262 66,648 614
201 ZEt2 & 23,062 30,288 NT,226
01 Ar2eltl 23,062 30,288 NT,226
OJ12==ZH| 9,412
OJ12=2EHl 13,650
202 04t 44,200 36,360 7,840
01 3LHO LI 44,200 36,360 7,840
O2120i| 44,200
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AR sHARS = T2l ot
M Y2 =0l EXl= 8=8 ==
o S8H0 S &elz HRe =XHE 22 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
401 AIEBIZ20HbI 300,000 0 300,000
| 300,000
01 AlEHI 300,000 0 300,000
OHZEHLX 300,000
| 300,000
S35 MHESH 29 15,000 15,000 0
| 15,000
201 Ler2| 13,900 13,900 0
| 13,900
01 ArR22ltl 600 600 0
Oul=t| 600
| 600
02 3244l 13,300 13,300 0
O=23232 ¥ HAl 2,857
| 2,857
OXtfedei] 10,443
| 10,443
202 o4t 1,100 1,100 0
| 1,100
01 =W OdbI 1,100 1,100 0
Odgold 2AIaSH| 1,100
| 1,100
TS NHESH HRE 4X] 300,000 0 300,000
| 300,000
401 A& B 20HY| 300,000 0 300,000
| 300,000
01 Al&HI 300,000 0 300,000
OAl&HI 300,000
| 300,000
HEQLERA H2AI 2,471,000 1,905,280 565,720
= 2,000,000
& 471,000
403 XX SHHSKH=01A 2,471,000 1,905,280 565,720
= 2,000,000
= 471,000
01 XIXISHAH=E X 2,471,000 1,905,280 565,720
OHIZ M2 AL 2,471,000
= 2,000,000
T 471,000
MENGHE SJAA (HEAIY) 1,376,500 2,657,000 A 1,280,500
403 XIS MS 201 1,376,500 2,657,000 A 1,280,500
01 XtXIEtXI A2 2 = 1,376,500 2,657,000 21,280,500




a2 A3 SN SRz
M oS 20| YXls w=s ==
©Rl: 2ENO AHBRIZ WRE AN H2 (crel )
AZ - 2N - FH -GS - HIRAY - BYS Ofl ko4 A HlmE2
|| Oueis = 1,376,500
N£IHs8 Xsks 22l 2 5,100 5,100 0
sz Sa 5,100 5,100 0
202 04t 4,500 4,500 0
01 =LH04 4,500 4,500 0
Ooisug =% 4,500
206 MZHl 600 600 0
01 M=ztl 600 600 0
Ool=ME SENE S+ 600
Ol 2501 Bt=Rote otAEt 2 B2 107,659,494 95,906,964 11,752,530
= 2,599,000
z 50,628,000
Jl 7,710,000
= 46,722,4%
SOIEMEES NPA(HeA) 20,616,504 17,004,464 3,612,130
408 XHXI SIS K201 20,616,504 17,004,464 3,612,130
01 RIXIEHRIA 2 2 2 20,616,594 17,004,464 3,612,130
SOEMEES YA 20,616,504
AT AIE HSAL (D EAL) 1,810,000 1,810,000 0
403 RXIHMSA=01H 1,810,000 1,810,000
01 RXIEHMIAt 2 2 2 1,810,000 1,810,000
OARIHTAIE JHEA 1,810,000
Ngat =S UBA 61,158,800 50,778,700 10,380,100
fas 50,628,000
= 10,530,800
403 MXISHHS 201N 61,158,800 50,778,700 10,380,100
fas 50,628,000
= 10,530,800
01 HXIHHA 22 61,158,800 50,778,700 10,380,100
OXlgat=SHHSA 61,158,800
= 50,628,000
= 10,530,800
ZEO D N AL (HEALY) 4,345,000 1,027,000 3,318,000
403 MXISHHSAH=01H 4,345,000 1,027,000 3,318,000
01 KXIEHH =R 4,345,000 1,027,000 3,318,000
OO DN 4,345,000
e HaSSL PSA(HEAIY) 8,632,200 3,550,800 5,081,400
403 MXISHHS 201N 8,632,200 3,550,800 5,081,400
01 AXISHHA 22 % 8,632,200 3,550,800 5,081,400
OXgA+E HINB2Y THAY 8,632,200
29 Hes 2HAAY 7,710,000 6,986,000 724,000
Il 7,710,000
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a2 sFaR= S AR BRI
Hu: ot 20| HXE #=d B=
SHel: ©0l 2SI} BIEGHE OHNE 2 B3 (Srol: 22)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
403 RXISHHI SRH20I & 7,710,000 6,986,000 724,000
p 7,710,000
01 RXISHH =2 E 7,710,000 6.986,000 724,000
OHEXY HES FENLAY 7,710,000
| 7,710,000
sTEEelYge Fu 8,200 8,200 0
201 Ler2 | 7,000 7,000
01 AFR 22| 6.000 6.000
OgeragH| 6.000
2 222 1,000 1,000 0
Ost=A6H+& 83l 1,000
203 QP E | 1,200 1,200
03 AIF RS D E T 1,200 1,200
O+ FHNLYSFN 1,200
X AHMS YSHH PEAY 3,378,700 0 3,378,700
=2 2,509,000
= 779,700
403 XX SHH S X201 & 3,378,700 0 3,378,700
2 2,509,000
= 779,700
01 REXISHH AR E 3,378,700 0 3,378,700
OF+E AHME SHH 25 3,378,700
2 2,509,000
= 779,700
SHTAIS SHEOZ WX MBEY X4 205,415,000 157,049,656 48,365,344
=2 185,934,000
= 19,481,000
IIEE=BBHRINE SRIAY 9,397,000 2,782,000 6,615,000
= 9,397,000
403 RXISHHI S RH20I & 9,397,000 2,782,000 6.615,000
2 9,397,000
01 RXISHH =2 E 9,397,000 2,782,000 6.615,000
ONEELBBH2IAE SXIAY 9,397,000
2 9,397,000
SterelE X 110,697,000 36,326,000 74,371,000
2 99,739,000
= 10,958,000
403 RXISHH SXH20I X 110,697,000 36,326,000 74,371,000
2 99,739,000
= 10,958,000
01 RXISH XS E 110,697,000 36,326,000 74,371,000
Ost+R2I® =5 3,897,000
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A= BAMES S Xt 2e|
M. o2 20| Uxle d=sst 55
SISl GRS AL BEOC2 WX MEBEY Xk (cre:xigl)
Al = % o|(5 = dMEE =
A 2A - B . H2A(FH) - HIRAY - BES (1;| Palgely Ol AtoH Hlwsz
= 29,097,000
T 6,800,000
O=s0&E0t=S5t=S 3| 74,800,000
= 70,642,000
= 4,158,000
o=l MOISAIY 4,700,000 8,410,000 A3,710,000
= 4,700,000
403 REXISHHS K201 4,700,000 8,410,000 23,710,000
= 4,700,000
01 AIXISHHX2EE 4,700,000 8,410,000 3,710,000
Odt=HMel=THoIZ At 4,700,000
= 4,700,000
o=t 2 Y| 52,676,000 80,905,000 A28,229,000
= 45,616,000
& 7,060,000
403 KX SHHS 201X 52,676,000 80,905,000 228,229,000
= 45,616,000
T 7,060,000
01 HXISHHAE2ER 52,676,000 80,905,000 228,229,000
Odt2t2 &l 31,191,000
= 27,617,000
= 3,574,000
OEANE=UHS 21,485,000
= 17,999,000
& 3,486,000
ot=2t2 &H| BTLYUZ 26,092,000 26,030,000 62,000
= 24,890,000
T 1,202,000
403 REXIHMS K201 26,092,000 26,030,000 62,000
= 24,890,000
= 1,202,000
01 X SHA=EER 26,092,000 26,030,000 62,000
Odt=2=2 3H| BTLY U= 26,092,000
= 24,890,000
& 1,202,000
HHRAGt=H 2l & &XI 664,000 455,000 209,000
= 595,000
& 69,000
403 XX SHHMSKHE01A 664,000 455,000 209,000
= 595,000
& 69,000
01 XN K2EE 664,000 455,000 209,000
OH=2oleX2l & &X 664,000




AR BAAEYR E YRS i
M 92 20| EXl= =8t 5=
Hel: SlEAE EF02 HXE MEEA =4 (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
= 595,000
= 69,000
LSols2tz HUXAL K& 477,000 1,440,000 A963,000
= 366,000
= 111,000
308 AXIHHSOIA 477,000 1,440,000 963,000
= 366,000
& 111,000
01 JXISHMEAEEZ 477,000 1,440,000 A963,000
C=ote2E dUIAF XA 477,000
= 366,000
& 111,000
AQESIE=E 22|HAH =E2Y 712,000 701,656 10,344
= 631,000
< 81,000
403 RXISHSAH=0| & 712,000 701,656 10,344
= 631,000
= 81,000
01 RIXISH 22 X 712,000 701,656 10,344
OAOIES=E 22 A 2=2E 712,000
= 631,000
& 81,000
=2 2te| 720,000 720,000 0
FENERES AU ES 720,000 720,000 0
TN REESETUNE2 720,000 720,000 0
308 AXIHHSOIA 720,000 720,000 0
(02 SESITE= = 720,000 720,000 0
OxZENHREZ H+1:F3 720,000
HMSAAH| (S22 ) 72,275 63,871 8,404
Jl2&t| 72,275 63,871 8,404
J|l2&h| 72,275 63,871 8,404
201 LBt AH| 22,175 20,401 1,774
01 AFR22t2lH| 22,175 20,401 1,774
OJ12+2H| 9,050
(OPIE=1="1s] 13,125
202 04| 42,500 43,470 A970
01 2L Y| 42,500 43,470 A970
OJ120| 42,500
405 KHAHSFISHI 7,600 7,600
01 AL 2 EF S| 7,600 7,600
OAIRE oAt ¢ 7,600
HRES (S22 1,697,013 1,687,850 9,163




= L= A =X 2|

AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
LHEHeH XI= 1,697,013 1,687,850 9,163
LI XI= 1,697,013 1,687,850 9,163
701 JIEtS HISEHEZ 1,697,013 1,687,850 9,163
01 JIEtSIHEES 1,697,013 1,687,850 9,163
OXNGXEAILAN EE3H HES 1,697,013
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[z OX o
o = oY

Al A

Ofl &F2H

HMEE
Ofl &k2h

SN

H

118,121,379
44,474,828
10,019,750
12,389,886
51,236,915

111,920,340

Moo

in

117,862,118
44,456,529
10,019,750
12,389,886
50,995,953

111,675,126

6,186,992

mhoH

6,465,948
3,790,4%
2,675,452

9,098,753

A2,632,805

o

423,320
241,897
181,423

677,297

N253,977

hoH

423,320
241,897
181,423

677,297

N253,977

Mo

423,320
423,320
241,897
181,423

677,297

AP253,977

hoH

417,680
238,675
179,005

635, 168

A217,483

o

417,680
238,675
179,005

635,168

A217,488

ho

417,680
417,680
238,675
179,005

635, 168

A217,483

Mo

413,368
236,210
177,158

729,424

/316,056

hoH

413,368
236,210
177,158

729,424

/316,056

hoH

413,368
413,368
236,210
177,158

729,424

316,056
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AR BHAEYR SA MRS
M AW MRANASH
ol MEFEXE (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
403 XIXIHHSAH=0|A 802,740 741,965 60,775
= 582,560
< 220,180
01 AEXISHH A 22X 802,740 741,965 60,775
Ot =889 =4 802,740
= 582,560
= 220,180
ULMSMATR| L AMALSA 1,874,075 2,154,705 280,630
= 1,070,900
& 803,175
403 XAEXISHHSAH=0|A 1,874,075 2,154,705 A280,630
= 1,070,900
= 803,175
01 XIXISHXA=2E X 1,874,075 2,154,705 280,630
OUASMACHT| TN AMALA 1,874,075
= 1,070,900
= 803,175
ZIEA AAMEZ THHHZ 2 (ELIHEEA]) 74,812 128,965 A54,153
= 61,610
& 13,202
308 AXIHHMSOIA 74,812 128,965 A54,153
= 61,610
& 13,202
01 AIXSHMBAERZ 74,812 128,965 54,153
O EH AAMS MHH22I (ELIHEA) 74,812
= 61,610
o= 13,202
ZEtA AAS THH 22 (K|II1EHIR) 241,886 427,435 A\ 185,549
= 199,200
& 42,686
308 AXIHHMSOIA 241,886 427,435 A 185,549
= 199,200
& 42,686
01 AEXSHHEAMERZS 241,886 427,435 A 185,549
OrIEH A THI22(RIIEHIZ) 241,886
= 199,200
& 42,686
ANZE AKIBSERSHH 300,000 300,000 0
= 250,000
= 50,000
403 XIXIHHMS K20 A 300,000 300,000 0
= 250,000
& 50,000




sz SN ARSI
2HE MEAXARS
HEISA2 EER-E)
12 . 24 - BB BR(3H) - MRAY - BSS ofl Ak Oﬁgﬁ HDE2Z
01 REXISHHIXHE B X 300,000 300,000 0
OUME MXIBEFSHIE 300,000
= 250,000
= 50,000
ANRERLEE BRE 022 (XR) 56,707 54,369 2,338
= 50,246
= 6,461
308 XHXISHHIS O & 56,707 54,369 2,338
= 50,246
= 6,461
01 IXSHZBASER 56,707 54,369 2,338
ONSEAATES BRE 01F2H(X2) 56,707
= 50,246
< 6,461
ANRYHAT S BAS 4 0 4
= 14
= 2%
301 YPHP 2 40 0 40
= 14
= 2%
TENNTREE 40 0 40
OAFRE 2Y BTE 22X SIS HALZ
bl 40
= 14
= 2%
NS EQNY L FEH HIZXS 101,887 113,259 A11,372
308 Xt I S0I & 101,887 113,259 A11,372
01 IR BABED 101,887 113,259 11,372
UM EUMY L B HIE X 101,867
UANET PEXH 47,520 47,520
308 XHXISHHIS 0| & 47,520 47,520
01 RXISHZABES 47,520 47,520
OUAEX RS 47,520
ARY 2Y B Zai sS4 AY 10,000 10,000 0
307 QI240| & 10,000 10,000
02 DIRIHAAIABE 10,000 10,000
OAlRE JY 31X Zeid S8 A 10,000
Hi32s| sr=ASHR ®20HE| HA 150,000 0 150,000
308 XHXISHHIS 0| & 150,000 0 150,000
01 IR BABED 150,000 0 150,000
OM32s| SH=UASHX M20Ha HE 150,000
DIALIR AIZSE AP (ZAH) (M EBALY) 212,940 390,000 177,060
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HE
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129,700
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Ofl &F2H

129,008
88,971
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i

Iy

fir

H

10,080
38,454

26,520

m

W
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i
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fir

H
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W
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22422 SA A=
dHE AENEEY
HeIEs EERE)
LA B SRI(E) - AISAY - BES of v G o HIDE2
= 51,880
=S 77,820
SR =2 (X2) 324,522 300,962 23,560
= 223,808
< 100,714
403 AXIEHMSA=0l1d 324,522 300,962 23,560
= 223,808
= 100,714
01 HXIHHA =22 xR 324,522 300,962 23,560
OttEASIAIA 179,638
= 123,888
= 55,750
OttE43E S 28,884
= 19,920
== 8,964
OL2RAZAIDHICH WA 104,400
= 72,000
= 32,400
Ott=2ZAIAIE 11,600
= 8,000
=S 3,600
SMETSHIA =2 (X2) 530,439 384,569 145,870
= 365,820
< 164,619
403 MR HHMSAHE01H 530,439 384,569 145,870
= 365,820
= 164,619
01 HXIHHA 22X 530,439 384,569 145,870
Ott=a3Hat 222,720
= 153,600
= 69,120
ORE=AIL(XHER) 5,220
= 3,600
== 1,620
Ott= &2 NAIAEY Stz 44,109
= 30,420
= 13,689
ORE=AE(SAHDIX=) 11,600
= 8,000
=S 3,600
OJIHEt &2 HSAIAS(SE) 14,790
= 10,200
< 4,590
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A= gFNER SN AR ERID
B FHY MURASH
ool MBS (ol m2)
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
2 1,811
< 799
202 it 2,610 3,557 £947
2 1,811
= 799
01 2UHoibl 2,610 3,557 £947
OHSH S5BE(XE) 2,610
2 1,811
= 799
eIV ENE TS 671,160 666, 192 4,968
2 671,160
403 XX SIS KH=0I & 671,160 666, 192 4,968
2 671,160
01 XX =2 671,160 666, 192 4,968
OBEH FRIKBAIY 671,160
2 671,160
A2 A= ALY 995,400 79,000 916,400
2 882,000
= 113,400
403 KX SIS XH= O & 995,400 79,000 916,400
2 882,000
= 113,400
01 XX =2 995,400 79,000 916,400
OURS A= A 995,400
2 882,000
= 113,400
EERSTHE 77,760 86,400 28,640
308 XHXISHAISOI R 77,760 86,400 28,640
B ErEES] 77,760 86,400 18,640
O254+IHIAY 77,760
ASIABI A 0F 012123t 21,000 16,400 4,600
2 21,000
308 XHXI SHAISOI & 21,000 16,400 4,600
2 21,000
01 IXSHBARES 21,000 16.400 4,600
OMBIMHIAZ0F Q12| 21,000
2 21,000
ABHHHN S LR 558,036 500,88 57,151
2 442,852
= 115, 184
308 XHXISHAISOIH 558,036 500,88 57,151
2 442,852
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A= BENER A Al
M ZNE MRS
Rl MEEEES (SH9 H2)
A = X ol(& = E-Ill‘jE =
A2 2K B O9I(30) - HRAY - BES ol &t e HIDS
[ 115,184
01 HASHHBSEEXS 558,036 500,885 57,151
Oggtgolis Xl 558,036
= 442,852
= 115,184
2URMHASE Xl 798,983 550,114 248,869
= 749,729
& 49,254
308 XXM S0l 798,983 550,114 248,869
= 749,729
[ 49,254
01 XN B2 LS 798,983 550,114 248,869
OaLIRMESE 2l 798,983
= 749,729
< 49,254
ALUSHEEY OlsEHSEa 237,225 227,656 9,569
= 182,480
L= 54,745
308 XtXIEMSO0IE 237,225 227,656 9,569
= 182,480
& 54,745
01 HXEHH B E2ES 237,225 227,656 9,569
OaxLIRMEEY OlstExa 29 237,225
= 182,480
< 54,745
=3 = 26,000 26,000 0
= 20,000
= 6,000
308 AHXIHMSO0IA 26,000 26,000 0
= 20,000
= 6,000
01 AXNBEES 26,000 26,000 0
O==dg 26,000
= 20,000
& 6,000
AHEHNE WEE A 815,503 763,921 51,582
= 627,310
< 188,193
308 AtXIEMSOIE 815,503 763,921 51,582
= 627,310
= 188,193
01 AXENBE LS 815,503 763,921 51,582
OdtgldaiE oZ2Me 24 815,503
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22422 SA A=
M METRSA
HeIEs EERE)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
= 627,310
=S 188,193
Sl E M 7Y 20,452 20,181 27
= 15,731
< 4,721
403 AXIEHMSA=0l1d 20,452 20,181 271
= 16,731
= 4,721
01 HXIHHA =22 xR 20,452 20,181 27
Odtegdalis 2MEH 7 20,452
= 16,731
= 4,721
2USHEHEE HEZALE 67,370 75,133 AT,763
308 XXM SOl 67,370 75,133 AT,763
01 XN B2 LS 67,370 75,133 AT,763
O2URMESE HZZAHA 67,370
Ty dEd Y 23 otd2] 85,800 85,800 0
= 66,000
= 19,800
308 AtXIEMSOIE 85,800 85,800 0
= 66,000
= 19,800
01 XN EES 85,800 85,800 0
O=d dgd W 2= otd2e] 85,800
= 66,000
=S 19,800
SRS 55,861,694 53,500,048 2,361,646
= 25,689,946
= 3,000,000
) 12,389,886
= 14,781,862
Mg =4 4,333,401 4,670,001 A336,600
= 3,229,209
= 1,104,192
403 AXIEHHSAH=201H 4,333,401 4,670,001 336,600
= 3,229,209
= 1,104,192
01 AXISHHA=2 2L 4,333,401 4,670,001 A\336,600
OZNE =4 4,333,401
= 3,229,209
== 1,104,192
LEE E57Y 4,156,646 4,731,099 N\b74,453
= 4,156,646




A= SHEME= Xl
M AHY MRANASH
Eelr AFEARES EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
206 =8| 4,156,646 4,731,099 N574,453
= 4,156,646
01 =4I 4,156,646 4,731,099 N574,453
Oox8g @37¢ 4,156,646
= 4,156,646
2R 1,206, 153 1,174,810 31,343
= 927,810
& 278,343
403 XIS IS AH=0| ™ 1,206,153 1,174,810 31,343
= 927,810
& 278,343
01 RIXISHKAI=2E R 1,206,153 1,174,810 31,343
O2U=R =8 1,206,153
= 927,810
c 278,343
OMEHX H2xE 286,000 429,000 143,000
J| 220,000
& 66,000
403 XX SIS AH=0| ™ 286,000 429,000 A 143,000
J| 220,000
& 66,000
01 RIXISHM 22 R 286,000 429,000 A 143,000
OO0IMISH X HZXE 286,000
J| 220,000
= 66,000
NHEEZ X&) 500,650 202,964 297,686
= 385,115
o= 115,535
403 XIXIHHMS K20 A 500,650 202,964 297,686
= 385,115
& 115,535
01 RXISHHMA2E X 500,650 202,964 297,686
OXEEs =& 500,650
= 385,115
& 115,535
LHSt=2 0 =4 194,610 0 194,610
= 149,700
< 44,910
403 RXISHSKH=0| A 194,610 0 194,610
= 149,700
= 44,910
01 RIXISH 22 R 194,610 0 194,610
Oust=&ll =4 194,610




22422 SA A=
M MRS
SElEEd EER-E)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
= 149,700
=S 44,910
LEAIE S 167,700 0 167,700
= 129,000
< 38,700
403 MR HSAHE01H 167,700 0 167,700
= 129,000
= 38,700
01 AXISHA=2E2 X 167,700 0 167,700
O2EAIE SHIALS 167,700
= 129,000
= 38,700
AEH0I2 S XIFEA =4 260,000 0 260,000
= 200,000
== 60,000
403 AXIEHMSAH=0ld 260,000 0 260,000
= 200,000
< 60,000
01 AXIHHA=2 2L 260,000 0 260,000
OLZ80I1L Jt& XIEEA =4 260,000
= 200,000
= 60,000
22 s 7Y 13,500 13,600 A100
201 el 3,500 3,600 A100
03 A= &I 3,500 3,600 A100
oMgE+, g22 S 7¢ 3,500
206 M=l 6,000 6.000
01 MZH| 6,000 6,000
og=s #Y 6,000
301 EtE NS 4,000 4,000
11 #AIAHIXIE S 4,000 4,000
OAIF LA 2S(ZAIZ 7)) 4,000
M IR0 18,480,830 17,810,611 670,219
= 14,216,028
=S 4,264,802
403 X SHHMSAH=01H 18,480,830 17,810,611 670,219
= 14,216,028
== 4,264,802
01 AXISHHA= 2L 18,480,830 17,810,611 670,219
O&EM=IHRI] 18,480,830
= 14,216,028
& 4,264,802




sz SN ARSI
2HE MEAXARS
SElEEd EER-E)
122 FH . OR(E]) - HIRAY - BA S Ofl ko4 Oﬁ]gﬁ HRE2
21| MRFFAEHKIR) 33,602 340,053 3,549
= 266,490
[ 77,112
308 XHXISHHIS 0| & 33,602 30,053 3,549
= 266,490
= 77,112
01 RXISHZABER 33,602 340,053 3,549
01 RI| RIRTAEHXIR) 33,602
= 266,490
= 77,112
20120t 1,348,695 798,260 555,435
Il 1,037,340
< 311,355
403 RXI RIS KH20| & 1,348,695 798,260 555,435
p] 1,037,340
= 311,355
01 MXISHHX=EX 1,348,695 798,260 555,435
Oz 1,348,695
| 1,037,340
= 311,35
ARIBIOIQUHA ASATTH 554,738 79,714 237,976
= 428,799
= 125,939
308 K- EHXI SOIH 554,738 79,714 237,976
= 428,799
= 125,939
01 RXISHIABEZ 554,738 79,714 237,976
OAZHI0IQUA ASAET 554,738
= 428,799
= 125,939
2IR)IHES 834,413 873,241 1,172
= 682,917
= 201,4%
308 XHXISHAIS 0| & 834,413 873,241 1,172
= 682,917
< 201,4%
01 IXSHZBASER 834,413 873,241 1,172
ORI THEES 834,413
= 682,917
[ 201,4%
A=Y 22 19,500 42,900 23,400
= 15,000
= 4,500




A= BFuE= A AE=XI
Hu: AR ARANASA
Eelr AFEARES EER=E)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
403 X SHHMSAH=01H 19,500 42,900 A23,400
= 15,000
== 4,500
01 A= 2L 19,500 42,900 A\23,400
OgINAHH B2 19,500
= 15,000
S 4,500
sMdiE Uss UsZ &4 1,060,000 1,508,000 448,000
Jl 1,060,000
403 MR HHMSAH=0lH 1,060,000 1,508,000 448,000
) 1,060,000
01 AXISHHA=2E XL 1,060,000 1,508,000 448,000
O=4it= LhsslUs2 &4 1,060,000
Il 1,060,000
AFMHIAERO(SAISKIZ2CIR) (M EALY) 151,489 130,023 21,466
308 AHXIHMSO0IA 151,489 130,023 21,466
01 AX N B ELES 151,489 130,023 21,466
O MBIAZROI(ZAI=XIZEJ) 151,489
A MHIAERO(HE&=DCIUI0IH) (HEALR) 45,447 57,788 12,341
308 XXM SOIA 45,447 57,788 12,341
01 XN BSELS 45,447 57,788 A12,341
OuEMEIAE20I(Z 4= 2CIHI0IE) 45,447
CABEEE = 3,900,000 5,850,000 21,950,000
[ 3,000,000
= 900,000
403 AXIEHHSAH=201H 3,900,000 5,850,000 1,850,000
[ 3,000,000
= 900,000
01 AR A =2 £ 3,900,000 5,850,000 21,950,000
OFAlttgd= &4 3,900,000
s 3,000,000
s 900,000
JIZE EAlE &4 9,100,000 4,550,000 4,560,000
) 7,000,000
S 2,100,000
403 AXIEHMSA=Z0l1d 9,100,000 4,550,000 4,550,000
Il 7,000,000
= 2,100,000
01 MXIHHA =22 X 9,100,000 4,550,000 4,550,000
OJI=lH8 ZAl= &4 9,100,000
Jl 7,000,000
S 2,100,000
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A= SEAE= A 1 AE=sKI0
A ANE MENREHE
Gl MEIRAEA EER=E)
Al . 2 A .I-IiH.CI-_?.|(§|j1|).}d|‘=’A|-g.EHE Of| AFOH ST Hnz=2
SHrTATSRE T == - Ofl &k o se
SEAN=E 2elXE =EEI 679,310 0 679,310
J| 522,546
< 156,764
308 AEXISHMSOIH 679,310 0 679,310
J| 522,546
= 156,764
01 XN BAELS 679,310 0 679,310
OEAN=E S 22XNE SZEEIt 679,310
J| 522,546
= 156,764
AOLEJLE X 370,500 253,500 117,000
= 285,000
< 85,500
403 XtXISHMSKHE0IA 370,500 253,500 117,000
= 285,000
= 85,500
01 XIXISH A= E X 370,500 253,500 117,000
OALOIEIE XA 370,500
= 285,000
= 85,500
SAlE DL (HEAY) 976,500 1,132,000 A 155,500
403 XSS 201 976,500 1,132,000 A 155,500
01 AXIEtHAHE22 = 976,500 1,132,000 A 155,500
O&AN= =4 976,500
NS 5 (HetAre) 2,730,000 2,228,000 502,000
403 XX SHHMSK=01A 2,730,000 2,228,000 502,000
01 MtXIEtH 22 £ 2,730,000 2,228,000 502,000
OXNgEA =4 2,730,000
AEIAIY OtRIR =Y 3,000 3,000 0
201 Ler2 | 3,000 3,000
01 At 22|l 3,000 3,000
Ot ALY BOIRIA =2 3,000
LietZ 223 4 X3 22,975 23,500 A525
201 23| 5,075 5,600 A525
01 ArR22ltl 350 350 0
OLfetZ 23238 BH(MANE AR = 350
03 At2ZH| 4,725 5,250 A525
Oletz 233t EH(HAE 4,725
303 Za= 1,000 1,000
01 Z&3 1,000 1,000
OLetZ 233 SE(JADS AIAS 1,000
403 XSS K201 16,900 16,900 0




=R N A AE=XI
M JHE UENHESE
Eelr AFEARES EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
STrTATSRtE T == B Ofl &k o se
01 AXISHHA=2 2L 16,900 16,900 0
OLiet2 232t §4 & 244l 22l 16,900
fgsdsry 130,000 130,000 0
= 100,000
S 30,000
403 MR EHHSAE01H 130,000 130,000 0
= 100,000
LS 30,000
01 XM =22 E 130,000 130,000 0
OR=3se =4 130,000
= 100,000
LS 30,000
CA=gE 2 2Y 67,03 64,660 2,375
= 51,565
S 15,470
308 AXIHS0IA 67,035 64,660 2,375
= 51,565
LS 16,470
01 HAHHBAEXS 67,035 64,660 2,375
OkAl= - 3H2e|el 28 67,035
= 51,565
LS 15,470
Aty gl &4 390,000 520,000 130,000
Jl 300,000
= 90,000
403 MR SHHMSAH=01H 380,000 520,000 130,000
7l 300,000
S 90,000
01 AXISHHA= 2L 390,000 520,000 130,000
OXtH ety Jdels =4 390,000
7l 300,000
LS 90,000
MBS = - (XR) 2,925,000 3,575,000 650,000
Jl 2,250,000
LS 675,000
403 X SHHMSAH=01H 2,925,000 3,575,000 650,000
Jl 2,250,000
= 675,000
01 AXISHHA 22 £ 2,925,000 3,575,000 650,000
Oodgaxd = X4 2,925,000
Jl 2,250,000
S 675,000
& AEIEHA 248 560,000 360,000 200,000
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sz SN ARSI
2HE MEAXARS
SElEEd EER-E)
122 FH . OR(E]) - HIRAY - BA S Ofl ko4 Oﬁ]gﬁ HRE2

= 466,667
< 9,333

403 RXI RIS XH=0| & 560,000 360,000 200,000
= 465,667
[ 9,333

01 MXISHHX=EX 560,000 360,000 200,000
O EAZAAER 2 560,000
= 465,667
= 9,333

FEE RN 16,301,685 12,010, 101 4,291,584
= 5,041,658
2 6,019,750
= 5,240,277

Feg SHH PA 218,400 260,400 A42,000
= 156,000
= 62,400

403 XHXI SIS XH=0| 218,400 260,400 A42,000
= 156,000
= 62,400

01 MXISHHX2EX 218,400 260,400 42,000
OFeE 2UA LU 218,400
= 156,000
= 62,400

NIIZXE SHBE 22U 49,400 52,000 £2,600
= 38,000
= 11,400

403 REXISHHIS X201 & 49,400 52,000 ~2,600
= 38,000
= 11,400

01 MXISHHX=EX 49,400 52,000 £2,600
OABIZXE SHRE 2L 49,400
= 38,000
< 11,400

SHas A2 229,281 246,974 A17,69
= 176,370
= 52,911

308 Xt I S0I & 229,281 246,974 A17,69
= 176,370
= 52,911

01 IS AE X2 229,281 246,974 A17,69
OSH+= =2 - 22 229,281
= 176,370
= 52,911




A= BENER I}
M MY AEEEY
Rl dEjEE AtX2el EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
gty SIHaat 173,680 0 173,680
= 133,600
& 40,080
308 AHXIEMSOIE 173,680 0 173,680
= 133,600
[ 40,080
01 AXHHNBHEES 173,680 0 173,680
Ozletd ST 173,680
= 133,600
< 40,080
SHAAAIE St 184,000 0 184,000
= 160,000
< 24,000
403 MR SHHMSAH=01H 184,000 0 184,000
= 160,000
(= 24,000
01 AXEMA2EE 184,000 0 184,000
OZTHAAAIE SHSH 184,000
= 160,000
[ 24,000
NS SZAHE AHAY 3,250,000 0 3,250,000
= 2,500,000
< 750,000
403 X SHMSAH=01H 3,250,000 0 3,250,000
= 2,500,000
< 750,000
01 AXISHHA =2 & 3,250,000 0 3,250,000
O3UETH SXAU= A A 3,250,000
= 2,500,000
[ 750,000
SHESHEE L () 466,248 1,260,900 ATH,652
403 AXIEHMSAH=201d 466,248 1,260,900 ATH,652
01 AXIEHM A =2 £ 466,248 1,260,900 AT94,652
O=SMHIaHEd =4 466,248
SHHE S22l N=83 19,767 16,848 2,919
= 15,206
< 4,561
308 XXM SOIA 19,767 16,848 2,919
= 15,206
(= 4,561
01 XN B2 LS 19,767 16,848 2,919
OSMNE S&Eacel N=d3 19,767
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A= SEAER A MESXIIL
M ZHE MEASA
Rl dEjEE AtX2el EER=E)
AR .2 - HH . l:}.<,>_|(§|j1|) + NIEAIY - HA S Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
= 15,206
= 4,561
AENUHXIGE 0SS =4 1,482,000 0 1,482,000
= 1,140,000
= 342,000
403 XX SHHSA=01A 1,482,000 0 1,482,000
= 1,140,000
T 342,000
01 X SH A= E X 1,482,000 0 1,482,000
OLH U XIRE 0 =4 1,482,000
= 1,140,000
s 342,000
LS MY EtEH EIL 15,714 15,714 0
s 11,000
= 4,714
201 ZEt2 & 13,500 13,500 0
s 9,450
& 4,050
01 ArR2eltl 13,500 13,500 0
O =AY EHEEEIL =5 13,500
s 9,450
= 4,050
202 04t 2,214 2,214 0
s 1,550
= 664
01 =LHOBI 2,214 2,214 0
O ALY EHEEEIE 0| 2,214
s 1,550
= 664
USAIE (HELYE) 6,867,142 7,046,857 A179,715
s 6,008,750
= 858,392
403 AR SHHMSA=01H 6,867,142 7,046,857 A179,715
s 6,008,750
= 858,392
01 Xt AH22 £ 6,867,142 7,046,857 A179,715
LTAIE (R E) 6,867,142
s 6,008,750
= 858,392
AUTAE FANB4(HEAID) 2,337,200 2,160,000 177,200
403 TS IH=01A 2,337,200 2,160,000 177,200
01 RIS AH2E £ 2,337,200 2,160,000 177,200
LEAE 7RRES 2,337,200
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\J
g
u

-

0
0

S A=

2240
2N A
MEf 2 (ol @)
L BRI(3I) - HIRAY - BHAS ol ke G o HlmS2
382,053 360,470 21,583
= 263,482
= 118,571
308 AEXICHA 382,053 360,470 21,583
= 263,482
= 118,571
382,053 360,470 21,583
382,053
= 263,482
& 118,571
354,900 312,585 42,315
= 273,000
= 81,900
308 AEXICHA 354,900 312,585 42,315
= 273,000
= 81,900
354,900 312,585 42,315
354,900
= 273,000
= 81,900
APARER FH XS 43,200 48,000 24,800
= 43,200 48,000 A4,800
82X 43,200 48,000 24,800
|9 HEXIE AX 43,200
=44] 1,000 1,000 0
1,000 1,000
1,000 1,000
1,000
& 227,700 226,625 1,075
= 186,000
& 41,700
403 REXICHA| 227,700 226,625 1,075
= 186,000
& 41,700
01 AIXISHHK2EE 227,700 226,625 1,075
227,700
= 186,000
= 41,700
20,919,403 19,125,125 1,794,278
= 962,485
= 19,956,918
2,700,000 1,050,000 1,650,000




CENOE SA ARSI
SN L
FIEHST EER-E)
=24 BB O3 - MRAY - BAS ol & A HIDS2
403 XX SHMSAHE01 ™ 2,700,000 1,050,000 1,650,000
01 X SHHAE2ER 2,700,000 1,050,000 1,650,000
OXgis2dy =4 2,700,000
s oke HA(MSAIY) 7,800,000 7,933,500 A133,500
403 XIS HMSAHE0IA 7,800,000 7,933,500 A133,500
01 XEXISHI =2 & 7,800,000 7,933,500 133,500
OXs2dy 22 7,800,000
Aosoe = ol A 55,250 55,250 0
= 42,500
& 12,750
308 AEXIHMSOIH 55,250 55,250 0
= 42,500
T 12,750
01 IXSHHBLERS 55,250 55,250 0
OXNF2Y = ol S 55,250
= 42,500
= 12,750
MEYEXAE ZH(HEAIY) 2,990,000 585,000 2,405,000
403 REXISHIS K201 & 2,990,000 585,000 2,405,000
01 XEXIEHI A= 2 2= 2,990,000 585,000 2,405,000
OdtEdZ=Ald - 2,990,000
XR2E= TH(MSAIY) 3,133,000 1,794,000 1,339,000
403 KX SHHS K201 3,133,000 1,794,000 1,339,000
01 AIXISHN K22 X 3,133,000 1,794,000 1,339,000
OXRe= =4 3,133,000
AEIXS S8 DT 29 27,000 30,000 A3,000
308 AHXIHMSOI & 27,000 30,000 A3,000
01 X SHBAEERS 27,000 30,000 A3,000
OtEXls SE8 dE 29 27,000
A 23t AL 45,000 50,000 5,000
307 212+01™ 45,000 50,000 A5,000
04 QIZHSHAAIE E X 45,000 50,000 25,000
OKte Z 3t A 45,000
AMBMHIAE RO (AR XIS KIS AL 326,400 239,200 87,200
= 192,000
T 134,400
308 AXISHMSOIN 326,400 239,200 87,200
= 192,000
= 134,400
01 X SHHBAEERS 326,400 239,200 87,200
ORI MUIAZLR0| (A RIK XA 326,400
= 192,000




A= BEME= SN MEsA
g JHE dENHASY
ol REEIS (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
S=cTA-SRe s T <= - Ol &4 ==
| & 134,400
SMEMBIAER0I(=HEIH 536,062 378,730 167,322
= 315,326
& 220,726
308 ARISHMSOIE 536,062 378,730 167,322
= 315,326
= 220,726
01 IXHMBdE2x= 536,062 378,730 167,322
O MBIAER0I(EHE D) 536,052
= 315,326
< 220,726
AEMHAERO(RO=LR) 560,418 419,540 140,878
= 329,659
< 230,759
308 ARISHMSOIH 560,418 419,540 140,878
= 329,659
< 230,759
01 HIXHMBLE2x= 560,418 419,540 140,878
OMEMHIAER0I(ROIEWR) 560,418
= 329,659
= 230,759
MEMHIAERO(FZSAXTAD (HEAHY) 166,638 144,470 22,168
308 ARISM SOOI 166,638 144,470 22,168
01 MASHNBLExRS 166,638 144,470 22,168
OMEMHIACROI(ZZSAXIZAL 166,638
AEMHIAE R0 (=HE 22l (HEAL) 75,745 72,235 3,510
308 ARISHMSOIH 75,745 72,235 3,510
01 XSS LExS 75,745 72,235 3,510
OMEANHIAC RO (e 22lel) 75,745
SMEMEOE 2S0LN 107,900 130,000 A22,100
= 83,000
= 24,900
308 ARISHMSOIE 107,900 130,000 A22,100
= 83,000
< 24,900
01 MASHNBSExES 107,900 130,000 A22,100
OatEYEN0IE 20U 107,900
= 83,000
< 24,900
=2 Zdae|(HEAY) 591,500 403,000 188,500
403 NXIEHHM S =20l1& 591,500 403,000 188,500
01 XEXISHMA2 22 591,500 403,000 188,500




AR BHAEYR SA MRS
. AW MRANASH
ol REYESSA (SH9 H2)
A2 2N - FB - O9(S) - HIRAY - BAS Ofl b4 Ce = DS
=0 S ok - == = e =
| osza suz = 591,500
XS Sst 222 =5 (EEArY) 325,000 520,000 A 195,000
403 XX SHHSA=01H 325,000 520,000 A 195,000
01 X SHA=EEE 325,000 520,000 A195,000
OXgEs =diZ =4 325,000
H&E sHetXls =2 T4 (HEANY) 910,000 325,000 585,000
403 XSS K201 910,000 325,000 585,000
01 MXIEtHAH22 = 910,000 325,000 585,000
OM#E st Xlw =2 &4 910,000
OIFX A BHYUZ TH(HEAIY) 130,000 0 130,000
403 XtXISHHMS K201 A 130,000 130,000
01 MRSt AH22 £ 130,000 130,000
QIFXIoF S22 130,000
=e|4h S 2Y - 22 /(MEANY) 208,000 104,000 104,000
308 AXIHMSOIH 208,000 104,000 104,000
01 IXSHHBAEES 208,000 104,000 104,000
O=eldt =dZ 2¢ - 2l 208,000
=Xgus K& 18,000 20,000 A2,000
307 gI2tol ™ 18,000 20,000 A2,000
02 QIRHEAAIEE R 18,000 20,000 A2,000
O=Hguns XN 18,000
=5 =oild AUz N 13,500 15,000 21,500
307 QI2HOI A 13,500 15,000 21,500
04 CIZISHAIAIRIE X 13,500 15,000 A1,500
O== =ofld JdAU3 13,500
== dio|I303 Edg &4 JI=HE &S 200,000 0 200,000
207 HAOHEH| 200,000 200,000
01 A1 =9H| 200,000 200,000
= d0131=a Edig 24 JI=2HE 2
o 200,000
H A AY| (A=K ) 110,261 %214 14,047
= 18,299
= 91,962
el 53,347 35,120 18,227
= 18,299
= 35,048
olEIHI (MRS EY BEE) 53,347 35,120 18,227
= 18,299
& 35,048
101 @124l 53,347 35,120 18,227
= 18,299
& 35,048




A= SN SN AR ERID
I BHSEAY| (ARSI
ool ol CEEE)
YT RN BY . O9(3) - HRAY - BES o &r A HIDS2
03 ZRH(RIH) 22N 24 53,347 35,120 18,227
OHzL22 24 53,347
-J1=3 2,188
2 13,442
= 25,746
—oIF,0RH BYUD24Y 4,971
2 1,705
= 3,266
— oixpg 2,209
2 758
= 1,451
—ZEEH| 3,919
2 1,344
= 2,575
-2l 1,680
2 576
= 1,104
-254g 780
2 268
= 512
S EIEEE 600
2 206
= a4
IR 56,914 61,094 £4,180
o= 2| 56,914 61,094 £4,180
201 2er2ei| 9,514 19,514 0
01 AL 22| 19,514 19,514 0
OJI=4gH| 7,964
OJI=a| 11,550
202 Oft 37,400 41,580 £4,180
ETETT 37,400 41,580 £4,180
OJI= 04t 37,400
P& S (Ae =KD 149,000 149,000 0
TESIEHE 149,000 149,000 0
TESIEHE 149,000 149,000 0
705 0|32 S 4 149,000 149,000 0
04 Al - EXIOHLII 201520l XAkt 149,000 149,000 0
OB 2THoH =P AK (2020) 149,000
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